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Features to be Tested

<Table 1> Printer

 SpedD | Description

SpecID_000_000 Z2E= 7| &EfO|AHLE = HEHO|CE

SpecID_000_001 ZAHI S L I =8 20| E0{2 42 HI|=550] =Lt

SpecID_000_002 7|=250| 25F XUS 82 50| E7ts ot

SpecliD_000_003 D2E =3 X HEO =2|H oM 2AWF0l 2HS SX[SHD AXYIHK| ZIAE SEFTF T
XEotLt.

SpeclD_000_004 ZEXIL BT Y 42 £8 @82 QIIEELE S0t

SpecID_000_005 88X R Y37t £t 2AQ YELCH HS FL £H0| 27t StCt

SpeclD_000_006 ANEBXNERH 22 HOIHE EHEE £330}

SpeclD_000_007 SEEX| $2 MEXAERHO ZZE Q82 275t

SpecID_000_008 EXSHR| @b o2 =38 = Qi

SpeclD_000_009 o] ALEAIIL SAI0 282 2 22 71 HAY 2 =M E St

SpeclD_000_010 7[==0| & W7tX| =42 TIWSHCt

SpecID_000_011 EH1ZE 129t AQEICH

SpecID_000_012 YS9 152 30=At7F 2|0jo|1 1 0|4 Hoj7ts R 22 SHSHA| $=Ct

SpecID_000_013 EHE2 1H2 10£0| 1 enter2 TE3HCL

SpeclD_000_014 U3 A A| SH2 H QTHC}

JH

0z MHo
10

0|52 EMet AlZhtxt LU 2 oF S0 2& XNFSHC}

Ei 2| max= 57HO|Ct.

it

SpeclD_000_015
SpeclD_000_016

(!
==
~



Features to be Tested

<Table 2> User

SpecD | Descripton

SpeclD_001_000 A2 User IdE User list0f| F=7hSHCt,
SpeclD_001_001 A2 User IdE user lIstOf| A] M A SHCE.
SpecID_001_002 Admin2t0| usradd, usrdel @ E & Aalia = QIC}

<Table 3> Recharge

SpecD | Description

SpeclD_002_000 Q& AdminTtO| A4, Ink B2 Alg = ULt
SpeclD_002_001 S Al X 108 1%, 43 10024 & 127t 2R EIC
SpecID_002_002 X2t Y3 &= 202 100% 1 30002 At 0|4 74X 11 LS = 8iCt.

<Table 4> Show

SpecD | Description

SpeclD_003_000 QA AdminZtO| Show HE 2 H3g = ULt

SpeclD_003_001 X DBO| M0 U= UserQ| ListE 2 0{&C}



Features to be Tested

<Table 5> Stop

SpecD | Description

X TS =50 /U

SpeclD_004_000

<Table 6> Display

SpecD | Description

SpeclD_005_000
SpecliD_005_001
SpeclD_005_002
SpeclD_005_003
SpeclD_005_004

S AlZts St

Y0t fAet TN R F

.

IS8 Al A User ListE =

rir
ox
o
HO
X
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J
mjo

=5 kel

=



Features not to be Tested

= Sensors

* Ink Sensor

* Paper Sensor
= Data gathering
= Etc...
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Features to be tested(Spec)

$

Test Identification
& Test Item



Identifier
T3_NPS.STC.000

T3_NPS.STC.001

T3_NPS.STC.002

T3_NPS.STC.003

T3_NPS.STC.004

Feature

SpeclD_001_000
SpeclD_001_002
SpeclD_001_001
SpeclD_001_002
SpeclD_002_000
SpeclD_002_001
SpeclD_002_002
SpeclD_002_000
SpeclD_002_001
SpeclD_002_002
SpeclD_003_000
SpeclD_003_001

Test Identification

Description

ArEX 5 HAE

AMEX AH HAE

g3 ST H=zrE

SEE AgXlo| 2AEE B



Test Identification

Identifier Feature

T3_NPS.STC.005 SpeclD_000_000
SpeclD_000_001
SpeclD_000_002
SpeclD_000_003
SpeclD_000_004
SpeclD_000_005
SpeclD_000_006
SpeclD_000_007
SpeclD_000_008
SpeclD_000_009
SpeclD_000_010
SpeclD_000_011
SpeclD_000_012
SpeclD_000_013
SpeclD_000_014
SpeclD_000_015
SpeclD_000_003
SpeclD_004_000
SpeclD_005_000
SpeclD_005_001
SpeclD_005_002
SpeclD_005_003
SpeclD_005_004

T3_NPS.STC.006

T3_NPS.STC.007

Description

AMEAZH E5e

=

m £E TS

Ch £

sosln 9l

rr

SIHO| 4&2

mjo



Test Item

Identifier
T3 NPS.STC.000.000

T3_NP5.5TC.000.001

T3_NP5.5TC.001.000

T3_NPS.5TC.001.001

T3 NPS.STC.002.000

T3_NPS.STC.002.001
T3_NPS.5TC.002.002
T3_NPS.STC.003.000

T3_NPS.5TC.003.001
T3 _NPS.STC.003.002
T3_NPS.STC.004.000
T3 _NPS.5TC.004.001
T3_NPS.STC.005.000
T3 _NPS5.5TC.005.001

Specification

*Admin usradd username” F{HE

=X O|&

"User1 usradd username” 7HHHE

4t 0I&

"Admin usrdel username” FHME

4t 0I5

"User1 usrdel username”

24t Ol&

FHWME

Ol =
H_:!:

Ol =
H =

= username ;

username

2= username :

(o]

H

“Admin A4 amount of A4" FHTHE

StalAt o=
“Admin A4 90" HUE
"Admin A4 110" 7T

O =

H =
I:CI:I

SR ¥ YUz

&

"*Admin Ink amount_of_ink"
SIAL Sl Y3 Y EE

"Admin Ink 2900" #
"Admin Ink 3100" 7

"Admin usrcheck"&

(=]
H =

"User1 usrcheck"&

“User1 Print test.txt"S

"UserQ Print test.txt"S

oz
2=
=S|

=l1] =]

HE

Ol

(=]
ol
(=]

Q

=

ja]

=]

AW 1
oin

N

MHE A

#H username : AHH|E A}

Ol =
=1

#H amount of A4 : =F

HAME YA amount_of_ink :



Test Item

Identifier
T3_NPS.STC.005.002

T3_NPS.STC.005.003

T3_NPS.STC.005.004

T3_NPS.STC.005.005

T3_NPS.STC.005.006

T3_NPS.STC.005.007

T3_NPS.STC.005.008

T3_NPS.STC.005.009

T3_NPS.STC.005.010

T3_NPS.STC.005.011

T3_NPS.STC.005.012

Specification

“User1 Print test0.txt"S ¢!

il

J

“User1 Print test1.txt"S &

2 ()

(3 THUY FQ)

(8 =0 3024 B= B2t

“User2 Print test2.txt"S BIS (BA| B8 49

“User2 Print test3.txt"5 B8 (23 Bl 89

“User2 Print testd.txt"S YU (testdtxtI}Y == Al

Xlel &0l 1008 He 89

“User2 Print testS.txt"S ©E (test5.ttItd &3 Al E

3o 0l 30008 e 49

“User2 Print test6.txt"S &1 (testo.txtI}2 = Al E
X9 &0l 60, &S] FO| 6002 B)

“User2 Print test7.txt"S 2 (test7.txtItY = Al 2
Ao 20| 4, 2309 20| 409 B

“User2 Print test8.txt"S YUH (test8.txtI}d == Al E
A9 &0| 5, A39] %0 502 E?)

“User2 Print test9.txt"S 3 (testObdtItY = Al Z
Kol 0l 6, 232 0| 60E E2)

“User2 Print test10.txt'S &3 (test10.txtI} Y =3 Al

8X|9| ¥0| 7, 439| ¥0| 702 B2

ko
rot
oo

ro
ofo

rot

0o

o



Test Item

Identifier Specification

T3_NPS.STC.005.013
T3_NPS.STC.005.014
T3_NPS.STC.005.015
T3_NPS.STC.006.000
T3_NPS.STC.006.001
T3_NPS.STC.007.000
T3_NPS.STC.007.001
T3_NPS.STC.007.002
T3_NPS.STC.007.003
T3_NPS.STC.007.004
T3_NPS.STC.007.005

"User2 Print test11.txt"S 2=
“User1 Print test” ElAE mUo| 0]

“User1 Print test.txt'S & =

o

=2 Xk ol
= 2x 24

rot

-]
%:r:'_l_

"stop"E YH (2= S0 OrE )
“stop’E ®IE (28 T 2 M)

AlZHO| Bigh mf =pof| ==oict
LZZE SY M 4g= 4o
7] /8 ¢ MY dEE =40t
2K TS =EHot

Y3 TS ==Eotnt

Xl MEfE =t



Test Identification
& Test Item

\ ¢

Input & Output Specification




Input & Output Specification

e A=A
“UserA usradd User1” 7T
E g

“Admin usrdel UserA” 7{7H
= 4=

“Admin usrcheck'S ¢

“*Admin usrdel UserA

L]
L=

E_|=|
2o

“User1 usrdel UserA” 7T

o]
c o

T3_NPS.STC.000.001

T3_NPS.STC.001.000

T3_NPS.STC.004.000
T3_NPS.STC.001.000

T3_NPS.STC.001.001

Set Number Input Identifier Expected Output
X AlZHS 2HHO| £ T3 NPS.STC.007.000 S AlZt : 00A] 00
otCt, =
X Mg ojet 2H  T3_NPS.STC.007.003 EX| T2 :00
of &=5ICt
U3 THEFS G109t $HF | T3_NPS.STC.007.004 23 ZFHEF : 00
o =&iotct.

“Admin usradd UserA* # T3_NPS.STC.000.000  UserA &=
e Qs
“Admin usrcheck'S 24 T3 NPS.STC.004.000 | User List : UserA
“User1 usrcheck's & E T3_NPSSTC.004.001 @ HUE 2F
Set 1 “Admin usradd UserA” # T3_NPS.STC.000.000 @ UserA 559z Qlol

S= A

e oF

UserA AHH|

User List :
UserA =Xi5HK| 240t
AN Aluf

e oF



Input & Output Specification

Set Number Input
SN AlZhE SHEH =8
oLt
A TF
o =
23
o =

“Admin usradd User1” #
oy =

mjo
o
=]
o
for
e

={3t

b

of

A
]

fu
mjo

Q
2
0
fot
re2

i
il

&=
SN TES

Set 2 =t [ g = T

ID
N

P adg gt

“User1 Print test.txt” 71T

Ol
SR

“Admin A4 20" HME ¢

Identifier
T3_NPS.STC.007.000

T3_NPS.STC.007.003

T3_NPS.STC.007.004

T3_NPS.STC.000.000

T3_NPS.STC.005.016

T3_NPS.STC.002.000

T3_NPS.STC.007.003

T3_NPS.STC.002.001

Expected Output
Sx AlZt - 00Al 00

oo Hr

Al THEF - 00

4]°]
|

THEF 00
Userl 5

00(H RHAIZh).txt 24
3 =3 X FE
100, Y3 ZHEF -
3000, &80 A|ZF: A
D= X &

(]
2% 20 =H

0P
A

THEF - 20

o
s
=

——



Input & Output Specification

g HASS 8 F

7t

Set Number Input Identifier Expected Output
“Admin A4 110" HME @ T3 _NPS.STC.002.002 EX =& #<| =it
= 2 Qg SF Aoj
“Admin Ink 1000” ZHE  T3_NPS.STC.003.000 <3 1000 =T
=
A3 TS AHOQF 2HH T3 _NPS.STC.007.004 23 Ft2F : 1000
Of =Tt

Set 2 "Admin Ink 2900" Z{MHE T3 NPSSTC003.001 YA =1tz 2ot =
= o Hf
“Admin Ink 3100 H{ME | T3 NPS.STC.003.002 Y3 & HSl =it
2 2 Qg SF Aoj
"Admin Refill” Z{HE = sTP Of QAT Al A4 2t Ink 25 5T



Input & Output Specification

Set Number

=
>
=
mjo
re
=2

il

Mt

T3_NPS.STC.007.000

J

oo et rgt
noe
o
fot
2

2

T3_NPS.STC.007.003

o2

O

2
o

T3_NPS.STC.007.004

0
ye

Mo 2

oA gy oA
ret g ot pnu

oo 11 njo

=

“Admin usradd User1” # T3_NPS.STC.000.000

“User1 Print test.txt”

H (EMOH] B=

T3_NPS.STC.005.000

“User0 Print test.txt”
|| B2 AFEAL

T3 _NPS.STC.005.001

"Admin A4 3" HUE
“Admin Ink 50" W CZ QI

T3_NPS.STC.002.000
T3_NPS.STC.003.000

T3_NPS.STC.006.000

Expected Output
¢ AlZE : 00Al 00

X FEF 00
o3 FEF 00
Userl ==

SEEA B2 AREA

ooz 3 A

2% 3 =3
ol3 5p =3

| (X X



Test Result

> = 65712] Test & 46tH2o| 43 1} 198Ho| Al

Xt LY HXZEH X U Y3 FHL Cygwin BH2=Z CINSICE (ex,

cygwin>Admin A4 100 / cygwin>Admin Ink 100)

NPS SRS ver 1.0.pdf

lease Order @ Admin Refill = DA#NPSsysteml
ccount Data Load Success
ogin ID : Admin

Ink = 3888 Paper : 188 Status @ HWait
2A15-11-17 17:28:45

Print MHow—

Input Command - Refill 0 0.8

¥cute Controller.
all Refill




Test Result

36.2 %E_’!% 2-|-1-\-Zw|-1|2-|3

1

s220| 152 3027} A|CHo|Ct 3027 04 & :

il

Ex) 3 Z0| 402XI7t Y2 AS 302X0 =Ect ;

°

£220| 132 1050/Ct. (enter2 28) :

10

NPS SRS ver 1.0.pdf 11

12

13

u Output 14
15

- 16
= 201511 I
mHlF) BEE MARE7IV) E2TH) — ;a

| E B R B R OB 1 1B 2B o1 48 & 1eE1 181 cB Q@FEQE il




Test Result

® Paper counting
- MAECH1EE o ACt
- 100/30009! mY S E25IX| ZBCL

Print Now-

= Output ser2 B/61
2 Paper: 60, Ink: 600

0 DRENPSsystem#NPSWhinwDebug#NPS.exe - DR |0 UMNPSsystemLCDWbin#DebugLCD.exe -

Initializing Printer i2000 L + 1188 Status @ Print
Please Order : User2 Print testh.txt

Account Data Load Success

Login ID : User2

Input Command = Print

[Excute Controller.

all writePrintQue

[File Found?

[Please Order :
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